GENUINE ACCESSORIES

G OBI Intelligent Designs 2000 Corp.

Denver, Colorado 80211
RALKS wuw. GOBIRACKS.com

GOBI2010 TOYOTA SEQUOIA ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessories. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasterming securty.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not linated to sallboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before inteting car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smmooth operation. Use graphite or simnilar diy
labricant to help this. Locks are designed to deter vandalism and theft. Eemowve valuable gear if wouwr
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carniers and accessones for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hrats of this product.
Eeview all mnstnactions carefially.

Installation Instructions for  GOBI 2010 TOVOTA SEQUOLA RACK Far1v0. JT20103R| SHEET ] oF 7




GOBI

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

GOBI 2010 TOYOTA SEQUOIA ROOF RACK

INSTALLATION INSTRUCTIONS

Included m kit
Letter Description Location Cuantity
A GOEI TOVOTA SEQUOLA ROOF RACE Main bex 1
B FAIRING pre-assemhled 1
FAIRING BRACKET HARDWARD
CONTENTS: 5- 1/4-20x3/4" 53 Button head screwr BAC #2
L f- 154" Black niylon washer Hapdwrare Bosx 1
3-1/4-20 0 Hylok nut
D GOBEI FROWNT ADJUSTABLE 3UFPORT BRACKETS Hardware Box 5
PASSENGER AND DRIVER SIDE

E GOEI MIDDLE ADJTETABLE SUPPORT BRACKETS 5

PASSENGER AND DEIVEER SIDE Hardware Box
F GOBI REAR ADJUSTABLE SUPPORT BRACKEETS %

PAZSENGER AND DRIVER SIDE Hardware Box

GOBI RACE MOUNTING HARDWARE

: CONTENTS: 12- W-6 x 25 Button head 33 1

G 12- 1" Heoprene washer 53 Hﬁiﬁgnx

12- 1/4" Lock waseher 33
1- M-4 Lletric Allen wrenich
GOEI BACK SUPPORT BERACEET HARD'WARE

H CONTENTS: 13- 3/28" x 1" 35 Hex Bolt BAG #4 1

24 378" 55 Flat washers Hardwrare Box

12- 35" Nylock nuats
f- Fubber pads black

C G H
. . .

BAG#H2 BAG#3I BAG#H4

Installation Instructions for  GOBI 2010 TOYOTA SEQUOLA RACEK

Ferrwo. JTS20103F| SHEET 2 OF




GENUINE ACCESSORIES

G OBI Intellizent Degigns 2000 Coxp.
Denver, Colorado 80211

RACHS wuw. GOBIRACKS.com

GOBI2010 TOYOTA SEQUOIA ROOF RACK
INSTALLATION INSTRUCTIONS

The rack muust be ingpected before each wse fo malte coarfan daifackmerts are secwre, and for evidence of
Wear, Mswse of fhe rackor fralire fo cbserve e mappfochear s insfrucfions s fo sfalaion proper
Affcckmnert and mairterepre will void 2wy warradies fhat may be implied by law.

[MaTALLATION INSTRUCTIONS:

1-
g

10-

F.efer to hardware list on page 2 and venfy that all hardware 15 present pnor to installation.
Fefertopage 5 and remove the Onginal Equipment Manufactured roof mols from your vehicle if
present. A T-30 Torx wrench is needed to remove the bracket screws.

- Fefertopage 5 Fig | after you have removed the OEN roofrack from your wehicle use denatured

alcohol to clean all debrnisand dirt from the wehicle roof top where the Onginal FoofFack had been
resting. Be suretoremove the dirt and debris from all 6 mounting points.

- Refertopage 2 remove support brackets (D, (E) and (F) from your hardware kit
- Eefertopage 5 Fig | and place support brackets (D) on the vehicle rooftop nest to the front

mounting points, support brackets (E) nesxt to the center mounting points and support brackets (F)
next to the rear mounting points ofthe your wehicle rooftop.  Pay close attention that the center
and rear support brackets as they are marked for designated positions.  Example: The center
braclkets are marked wath “CD” for Center Driver side and “CP” for Center Pazzenger side.  The
rear support brackets are matked with “E.-L7 for Eear Drivers side and “"E-P” for Fear Passenger
side. Do not install at this time.

- Fefertopage 2 andremove all I-6 metnc mounting screws, lock washers and water proofneoprene

stainless washers from Bag#3 of vour hardwarelzit. Feferto page > Fig 1 and install suppott
bracket (F) marked “ED" Fear Diniver aide uaing the M-0 metnic screvws, lock washer and neoprene
water proof washer (% as shown onFig. 1 and mount support bracket to rooftop. Continue
installing the remaining support brackets to vehicle rooftop.  Brackets D7 or front mounting
bracleets are identical bhoth diiver and passenger sides. Do not fully ti ghten supp ort braclzet
mounting screws, leave snug only at this time.

- Fefertopage 6 Fig. 3 and make certain that camage bolts (10 are left snug so that adjustments in

height can be made dunng installation without hawving to loogen sorews.

- Eefertopage 5 Fig 1| once all support brackets have beeninstalled use two or more persons and

carefully place roofrack (11} aver top of all support bracketsas chown,  Use 3/8-16 screws, washers
and nutz (12} located in Bag # of your hardware lat. B e sure to place rubber pad (14) between
roof rack flanges (11a)and support brackets as shownin Fig 1. Finger tighten all screws (12 do
not fully tighten at this time.

- Refertopage 5 Fig | and fully tighten all support bracketz (L, (Edand (F) to the vehicle rooftop

using the hi-4 metric Allen wrench supplied in your hardware Bag #35.

Fefertopage 5 Fig. 1 and fully tighten all 3/8-16 screws, washers and nuts (12) so that roofracl 12
secured to support bracketz (D, (Edand (F). While tightening the 3/8-16 screws, washers and nuts
{12y adjust all support brackets (O, (E) and (F) up or down to conform to the roof racks natural
position as shown in Fig 3(H)  Afterall screws, washer and nuts (125 have heen fully tightened
follow by fully tighteningall carriage holts (10% shown on Fig. 3 page 6 to all 6 support braclets (D,
(Eand (F).

Installation Instructions for  GOBI 2010 TOVOTA SEQUOIA RACK rarIvo. (JT320103R| SHEET 3 oF 7




G OBI Intellizent Degigns 2000 Coxp.
Denver, Colorado 80211

GENUINE ACCESSORIES

RACHS wuw. GOBIRACKS.com

GOBI 2010 TOYOTA SEQUOIA ROOF RACK
INSTALLATION INSTRUCTIONS

The rack must be ingpected before ench use fo make corfain difackments are secure, and for evideree of
Wemr. JMsuse of fhe rackor falure fo observe e masfachea s ofricfions s fo isfall dfion proper
Affactmnertt ard megrtfervpyre will void an wearradies fhat may be implied by law.

[NaTALLATION INSTRUCTIONS CONTINUED:

11- Fefertopage7 Fig 4 fairing comes pre-assembled wath fainng brackets (4) attached.  The position

of each faining bracket may not be fized at the proper height for your particular roofline,
Adjustments may have to be made in order for the fainng to conform correctly to your wehicle’ s roof
line. Beginbyattaching the fairing’s center bracket to the middle slot (5a) ofthe Gobi roof rack
light bar () shown in Fig 4. Uze the Stainless %7 button head screws, flat black nylon washers
and " Mylock nut supplied in Bag #! of your hardware lit.  Provide approzimately a 27 gap
between the fairing and the Gobi rack outer tube az shownin Fig a. Tighten down the center
screw and mot at this time.  Proceed to etther the paszenger or dnwer side and pull the fainngin the
direction ofthe arrow 1n Fig. 5 letter (F) and (&) while pushing down on the fainng tovards the roof
top at the sametime  Pull each side towards the roof mck until faining either makes contact with or
comes in close proximity to the Gobi racke. Align faining brackeet (45 to the Gobi light bar fairing
slots at the end ofthe Gaobi light bar (33 and secure the fairing in place wath a 4" button head screw,
black nylon washers and MNyloclkt nat.  Proceed to the opposite side and continue attachingthe
faining in the same manner. B e certain that the fairing throughout itz length 12 making contact wath
the roof top as smgas possible. Fainng brackets mav need to be adjusted etther up or down and 1n
some cases you may bend the faining bracket to accommodate the final result. Once the fairing 12in
the proper position which iz in a bowed configuration tighten all fairing brackets screws firmly.
F.oofracl installation is complete.

Installation Instruchions for

GBI 2010 TOYOTA BEQUOLA RACEK rer1vo. JT320103R| SHEET 4 oF 7




GOBJ

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

Rethowe all debris and
clean sutface with
defiatured alcohal

GOBI2010 TOYOTA SEQUOIA ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 1

Installation Instruchions for

GBI 2010 TOYOTA BEQUOLA RACEK

Ferrwo. JTS20103F| SHEET S OF




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI2010 TOYOTA SEQUOIA ROOF RACK
INSTALLATION INSTRUCTIONS

11

& djustable
suppott bracket

ol +
w

Fubher seal

Fig. 2

Installation Instructions for  GOBI 2010 TOVOTA SEQUOIA RACK rarIvo. T320103R| SHEET § oOF 7




RALKS

GENUINE ACCESSORIES

G OBI Intellizent Degigns 2000 Coxp.
Denver, Colorado 80211

wuw. GOBIRACKS.com

GOBI2010 TOYOTA SEQUOIA ROOF RACK
INSTALLATION INSTRUCTIONS

Gobi Rack
outer tuhe

& y

5

+

Installation Instructions for  GOBI 2010 TOYOTA SEQUOLA RACEK PAEIND. (3TS20103F

SHEET

oF




	Gobi Toyota Sequoia 2010 roof rack install page 1
	Gobi Toyota Sequoia 2010 roof rack install page 2
	Gobi Toyota Sequoia 2010 roof rack install page 3
	Gobi Toyota Sequoia 2010 roof rack install page 4
	Gobi Toyota Sequoia 2010 roof rack install page 5
	Gobi Toyota Sequoia 2010 roof rack install page 6
	Gobi Toyota Sequoia 2010 roof rack install page 7

